User Inputs:
1. Risk Per Trade
2. Target
EA Logic
· This is a ‘Stop and Reverse Strategy’
· atrHigh and atrLow are bands based on candle high and low (I’ll provide you the indicator)
· The atr values will be changing with each candle
· The open positions or Stop orders should reflect ‘atr’ values as per previous candle close 
· Open order or Limit orders should be continuously updated based on the latest atr value (as per previous candle close)
Entry
1. Buy at ‘atrHigh’
2. Sell at ‘atrLow’
Exit Rules
1. If Stop Loss is Triggered 
a. for ‘Buy’, SL will be value of ‘atrLow’
b. For ‘Sell’ SL is ‘atrHigh’

2. If Target is achieved
Lot size Calculation
User input:
a. Risk per Trade = $100 (how much risk are you willing to take in each trade)
*************************
1. Step 1 : Calculate 
a. Risk  : = atrHigh – atrLow (example : atrHigh (1.37650) – atrLow (1.37350) = 300)

2. Step 2 : Calculate 
a. Dollar at risk for 1 standard lot
b. In this case a GBPUSD pair has $1 risk for each point 
c. Therefore, Risk (300 points) x $1 = $300

3. Step 3 : Lot Size calculation = Risk Per Trade / Dollar at Risk 
a. Round this to 0.01
b. Example : Risk per Trade ($100) / Dollar at Risk ($300) = 0.33
i. Therefore, the lot size to be traded is 0.33
4. Please consider similar calculation for other pairs 

